PRIX CAPRILLI RIDING TEST No 10 1984
No. ......... HOISE. ot RIDEI ..ttt
JUAEE...eeiieeec e, Date...ccoeeieriereieeeens
Riding test Max. Judge's Judge's remarks
marks marks
1 A Enter at working trot 10
(sitting or rising)
X Halt, salute, proceed in
working trot (rising)
2 C Track left 10
HXF Change the rein in working trot
3 A Circle right 20m diameter 10
On return Working trot
to A
4 KXM Change the rein 10
5 C Working trot 10
Circle left 20m diameter
Turn left and keeping parallel
6 | AfterC To the long side, jump fence No 1 10
Before A Establish working canter left
7 B Circle left 20m diameter 10
Between B | Working Trot (sitting or rising)
8 and M 10
CXA Two loops to go 5m either side of
the centre line
9 Between A | Working canter right 10
&K
After C Turn right and keeping
parallel to the long side jump fence
No. 2
Before A Re-establish working canter right
10 | E Circle right 20m diameter 10
H Working trot
11 | M Medium walk 10
BX Half circle right 10m diameter
XE Half circle left 10m diameter
12 | K Working trot 10
A Turn up centre line
Halt Salute Leave arena at free walk
G onalongreinatA
13 Control Style and use of aids by rider 20
Summary Maximum total 140 Judge's signature
of marks: Penalties to deduct

TOTAL MARKS




Jumping

After the second refusal at a jump the rider
goes on to the next movement. Marks will
be at the judge’s discretion.

A whip may be carried.

Spurs may not be worn.

Fences should not be less than 10ft and
not more than 12 ft long including stand.
Fence 1 Single rail 0.45m high. Should
stand on the E-B line, the outer stand to be
2metres from E

Fence 2 — Parallel rails 0.60m high, 0.6m
wide. Should stand on the B-E line, the
outer stand to be 2metres from B

PRIX CAPRILLI
RIDING TEST No 10
1984 REVISED 2021

TEST PENALTIES
Approximate time — 4 % minutes
Errors of course

15t time 2 points
2" time 5 points
3 time 10 points
4t time Elimination

Use of the voice

Each occasion 2 points
Martingale 5 points

Scale of marks

10 excellent 4 insufficient

9 very good 3 fairly bad

8 good 2 bad

7 fairly good 1 very bad

6 satisfactory 0 not performed
5 sufficient

All trot should be executed rising unless
otherwise stated
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